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No Practice Quiz, BUT a Quiz bye-bye shot, due at the end of the semester, that you
can take at any time, up to May 13th.

Today: Infinite Limits

Algebra Review: Completing the Square to obtain a quick sketch of quadratic
functions.

They come up a lot in math and on Quiz 1. You want to be able to whip these out,
quickly.

Also a big application of the Squeeze Theorem.
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To prove that this limit is true, you want to show a delta such that if | x - 2 | < delta, then we can
make the 5/(x-3)*2 bigger than any number you give us.

For a specific value of M: M = 1,000,000:

’J—-MC-'-A;I( Invs :'L'S gwmore Corwu\lly N

5 J
P G¥= - &

x>t

\
Wt L"TD—" 2 |92

|

— = (OO0

(v.—") xX=2
| 000000
1
1 c—
L
— - 1) L 060000 > v

[

Y1
) - — =
—_— Lx‘A" L \Cwb— mc_g T3
|

) x4 10?2

b
\ > (o000 =0

(e

L T
Ma.z"( S-" o’ /
whowarer oc\x’llLS-

/_Dv\?,b-una,o

I s .
wet 5 sM  Co e (6»,3 M>J

\
- o7 Gy,
)

. _ v ya JE—
".0./ (x- m

r\‘r\_L
\

\x-2l & Z

—

\,.-C"l' g—, ﬁh’



250206-notes.notebook February 06, 2025

Quiz hint: Same thing works for any even power of (x - 2).
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If the power is ODD, then one side of the limit will be +infinity and the other side of the limit,
i.e., the "other-sided limit," will be -infinity.
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Intermediate Value Theorem.
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If the chicken crosses the road, then it must cross the center line of the road.
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Quadratic Functions.

Solving an equation Manipulating an expression.
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Quiz 2 Notes that are inappropriate at this time.

Special: Variations on the "Topologist's Sine Curve"
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Discontinuity can't be removed. x=0.
CGuner
TamPeD Smg - Cnts and Difbl everywhere except x =0

(o= xs(%)

Has removable discontinuity at x = 0.

Removing the discontinuity does not make it differentiable.

Do uM - anm p.ad ” she curve Cnts and Difbl everywhere except x =0

a_ s (\l’ Discontinuity at x = 0 is removable. When you remove the
)= x slX . - . . .
i discontinuity you also get a differentiable function.
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